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M Sam and Alex are traveling in the car ... but the speedometer is
o broken.

disdacemaunt = \2MWKw

fwae U wain
Alex: "Hey Sam! How fast are we going now?"
= \.2\(»1. = \2 .60 k_;b o
Sam: "Wait a minute ..." Ay
éo
"Well in the last minute we went 1,2 km, so we are going:" Z2 Vm/h

1,2 km per minute x 60 minutes in an hour = 72 km/h

B "No, Sam! Not our average for the last minute, or even the last second, I
L8 want to know our speed RIGHT NOW."

vee \STANTRANEOLS VELO cw\,

Sam: "OK, let us measure it up here ... at this road sign... NOW!"

"OK, we were AT the sign for zero seconds, and the distance was
meters!"

... Z€ro

The speed is Om / 0s = 0/0 = I Don't Know!

"I can't calculate it Sam! I need to know some distance over some time, and
you are saying the time should be zero? Can't be done."

Source : WWW. wathistown.cowm
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